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1101 | K48 dbimE 250 2500 0 2500 10 0 0 0 1728 0 1188
EE 28 280 0 280 10 0 0 0 1620 0 864
RE 3 45 0 45 15 0 0 0 0 756 0
& 281 2825 0 2825
NB|FEFEAS [dtiEE 400 4000 0 4000 10 0 0 0 1404 0 648
& 400 4000 0 4000
1141[54R BmE 15 75 0 75 5 0 0 0 3240 0 864
& 6 60 0 60 10 0 0 0 1728 0 1512
GhH 21 135 0 135
1201|833 E% 130 1950 0 1950 15 0 0 0 2916 0 2160
GhH 130 1950 0 1950
1203 X vRY |BE 87 870 0 870 10 0 0 0 1782 0 1512
BHE 100 1500 0 1500 15 0 0 0 0 1166 0
E% 112 1120 0 1120 10 0 0 0 2160 0 1566
(&) 299 3490 0 3490
1207| & & Eh 793 81 81 0
1209| B & JLiEE 10 50 0 50 5 0 0 0 3078 0 2808
Eh 16 68 0 68
1301 [HF RE 1 5 5 0 5 0 378 0 0 0 0
e 20 6 0 6 0.3 0 0 0 0 173 0
=) 60 30 0 30 05 0 0 0 238 0 184
e 5 20 0 20 4 0 0 0 2160 0 1944
=) 25 125 0 125 5 0 0 0 2808 0 1728
=0 480 144 0 144 0.3 0 0 0 0 162 0
= E 14 70 0 70 5 0 0 0 0 2700 0
Eh 623 488 5 483
1311[FF IR 2 27 108 0 108 4 0 0 0 3564 0 3024
Eh 27 108 0 108
1321 [ BiE 105 525 0 525 5 0 0 0 3672 0 2376
Eh 105 525 0 525
13B1E—<> [EE 1020 153 0 153 0.15 0 0 0 113 0 108
Eh 1020 153 0 153
1353| Tk =5 60 6 0 6 0.1 0 0 0 0 292 0
Eh 60 6 0 6
1355|455 ERE 80 8 0 8 0.1 0 0 0 0 97 0
Eh 200 20 0 20
1501 [HE EE 29 145 0 145 5 0 0 0 0 864 0
Eh 29 145 0 145
1521 |83 ZiE 4 40 0 40 10 0 0 0 4860 0 3240
Eh 4 40 0 40
1541 | E& dLiEE 30 300 0 300 10 0 0 0 2808 0 2700
dLiEE 543 10860 0 10860 20 0 0 0 1944 0 1609
(&) 573 11160 0 11160
1603|)L)— [REH 4 40 0 40 10 0 0 0 3996 0 3780
(&) 4 40 0 40
1609|70val)  [EF 10 60 0 60 6 0 0 0 5022 0 4320
(&) 10 60 0 60
1611[LAR % 5 25 0 25 5 0 0 0 1836 0 1404
=% 20 200 0 200 10 0 0 0 2916 0 2700
Gh 25 225 0 225
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1612|[H =L 52X |EFH 20 100 0 100 5 0 0 0 2376 0 1620
& 20 100 0 100
1627|2=F<F |[ItBE 15 45 0 45 3 0 0 0 0 5400 0
& 90 60 0 60
1705| T A= =0 180 14 0 14 0.08 0 0 0 0 56 0
& 180 14 0 14
1803 | EHEE EE 450 45 0 45 0.1 0 0 0 135 0 113
mE 400 40 0 40 0.1 0 0 0 152 0 120
(&) 850 85 0 85
1807|#8E E& 250 25 0 25 0.1 0 0 0 0 46 0
f=554 1200 240 0 240 0.2 0 0 0 0 69 0
=% 150 45 0 45 0.3 0 0 0 0 94 0
GhH 1600 310 0 310
1809|L&HL EF 500 50 0 50 0.1 0 0 0 0 49 0
=% 330 66 0 66 0.2 0 0 0 92 0 80
[E)) 830 116 0 116
* EEET * 15368 52194 91 52104
2421 | T [&0) 38 285 0 285
2609| B I& EF 15 75 0 75 5 0 0 0 0 8100 0
(&) 15 75 0 75
2616|]S<AAL _ [ELL 2 4 0 4 2 0 0 0 0 4320 0
[ 14 70 0 70 5 0 0 0 9720 0 8640
[E)) 16 74 0 74
2821 |FEER RE 234 117 0 117 0.5 0 0 0 389 0 259
(&) 234 117 0 117
* S EEET * 568 817 0 817




